Self-Test Problems

Dr. Graham Mitenko

Investment Decision Rules

1) Your company has asked you to analyzing the following investment proposals:

           Cash Flow
Year            Project A                Project B

 0                ($85,000)             ($137,000)

1                    25,000                   42,000

2                    28,750                   45,250

3                    31,000                   56,500

4                    34,500                   55,000

a) What are the projects pay back periods?

b) Given a 12% cost of capital, what are the project’s NPV?

c) What are the project’s IRR?

2) The following are the cash flows from several different investment opportunities:

Cash Flow

Year   Project A       Project B     Project C    Project D
 0      ($12, 000)     ($23,000)    ($38,000)     ($42,500)

1           3,000             4,500           9,600         10,250

2           4,000             5,000           8,000         12,000

3           5,500             5,500         11,000         14,000

4           6,100             7,500         10,500         13,500

a) What are the project’s PBP?

b) Given a 10% cost of capital, what are the project’s NPV?

c) What are the project’s IRR?
D) What are the projects MIRR?
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1) Paradise Medical Company (PMC) is contemplating purchasing a new specific gravity blood analyzer to indicate the presence of Covid.  The new machine will be depreciated over 5year using the MACRS’ 5 year rates.  The new machine has a purchase price of $450,000, not including the operating software for $31,000 and installation of $55,000.  The revenue from the new machine will be $391,000/yr. with expenses of $295,000/yr.  PMC will also require a $40,000 increase in their working capital (vials and beakers) inventory.  The machine will be sold at the end of 3 years for $285,000.  PMC state and Federal tax rate is 35% and their cost of capital is 9%.  Using the five step process from class give the equipments IRR, NPV and PBP.

2)   Hank’s Heavy Towing is contemplating purchasing a new tow truck for $85,000.  In order to get the truck up to heavy towing standards, the truck will require modifications costing $50,000.  The truck will also require $8,000 in working capital (chains, battery boosters, etc.)  The truck will be sold in 3 years for $50,000 and will be depreciated on a straight-line basis to a book value of $24,000.  Hank estimates that the truck will produce $112,000 in revenue/yr. and will have $54,000/yr in expenses.  Hank’s tax rate is 40% and his cost of capital is 12%.  Using the five step process from class give the equipments IRR, NPV and PBP.

